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Q1. Which of the following is the Co-ordinate
of the origin?

fuEufyf•r esa ls dkSu ewy ds funZs'kkad gSa\

(a) (0,x) (b) (x,0)

(c) (0,0) (d) (x,x)

Q2. What is abscissa of point A(2,3)?

funZs'kkad A(2,3) dk Hkqtkad D;k gS \
(a) 2 (b) 5

(c) 3 (d) 1

Q3. What is ordinate of point A(5,6)?

funZs'kkad A(5]6) dh dksfV D;k gS\
(a) 2 (b) 5

(c) 3 (d) 6

Q4. What is the difference of the abscissa and
ordinate of the point P(7,-3)?

fcanq P(7]&3) ds Hkqt vkSj dksfV esa D;k varj gS\
(a) 4 (b) -7

(c) -4 (d) 10

Q5. The ordinate and abscissa of the point
(k,2k-1) be equal, The value of k is ?

fcanq (k, 2k–1) dh dksfV vkSj Hkqt cjkcj gS] k dk
eku gS \
(a) 0 (b) -1

(c) 1 (d) 0.5

Q6. The point (-2,4) lies in which quadrant?

fcanq (&2]4) fdl prqFkkZa'k esa fLFkr gS\

(a) 1st (b) 2nd

(c) 3rd (d) 4th

Q7. What is the polar coodinate of (1, 3 )

(1, 3 ) ds èkzqoh; funZs'kkad D;k gSa

(a) (2cos60°,2sin60°)

(b) (2cos30°,2sin30°)

(c) (2sin60°,2cos60°)

(d) (2sin30°,2cos30°)
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Q8. Find the distance between points A(2, 5)

& B(6, 8)

fcanq A(2]5) vkSj B(6]8) ds chp dh nwjh Kkr
dhft,

(a) 2 (b) 5

(c) 3 (d) 4

Q9. Find the distance between points A(3,–7)

& B(-5,8)

fcanq A(3]&7) vkSj B(&5]8) ds chp dh nwjh Kkr
dhft,

(a) 12 (b) 17

(c) 13 (d) 14

Q10. Find the value of x, if the distance between

the points (x,-1) and (3, 2) is 5 cm.

x dk eku Kkr dhft,] ;fn fcanqvksa (x] 1) vkSj (3]
2) ds chp dh nwjh 5 lseh gSA

(a) 2 (b) 7

(c) 3 (d) 4

Q11. If the mid-point of join (-8,13) and (k,7) is

(4,10) then find the value of k ?

;fn (&8]13) vkSj (k]7) dks tksM+us dk eè;&fcanq
(4]10) gS rks k dk eku Kkr dhft,A

(a) 11 (b) 17

(c) 14 (d) 16

Q12. Find the coordinates of the point which

divides the line segment joining the points

(2,–3) and (–4,6) in the ratio 1:2 internally.

fcanq (2]&3) vkSj (&4]6) dks feykus okyh js•k•.M
dks 1%2 vuqikr esa vUr% foHkkftr djus okys fcanq ds
funZs'kkad Kkr dhft,A

(a) (8,0) (b) (0, 0)

(c) (3,–5) (d) (4, 3)
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Q13. Find the coordinates of the point which
divides the line segment joining the points
(2,1) and (3,5) externally in the ratio 2:3.

ml fcanq ds funZs'kkad Kkr dhft, tks fcanqvksa (2]1)
vkSj (3]5) dks feykus okys js•k•aM dks cká :i ls
2%3 ds vuqikr esa foHkkftr djrk gSA

(a) (0,–6) (b) (0,0)

(c) (3,–5) (d) (0,–7)

Q14. In which ratio point P(1,2) divides the line

segment joining (–2,1) and (7,4)

fcanq P(1]2) fdl vuqikr esa (&2]1) vkSj (7]4) dks
feykus okys js•k•aM dks foHkkftr djrk gS

(a) 1:2 (b) 2:1

(c) 3:2 (d) 2:3

Q15. In what ratio y-axis divides the line joining

the points (2,3) and (5,7) ?

fcanqvksa (2]3) vkSj (5]7) dks feykus okyh js•k dks
y&v{k fdl vuqikr esa foHkkftr djrk gS\

(a) 2:5 internally (b) 5:2 internally

(c) 2:5 externally (d) 5:2 externally

Q16. In what ratio x-axis divides the line joining

the points (–4,3) and (5,2) ?

fcanqvksa (&4]3) vkSj (5]2) dks feykus okyh js•k dks
x&v{k fdl vuqikr esa foHkkftr djrk gS\

(a) 3:2 internally (b) 2:3 internally

(c) 3:2 externally (d) 2:3 externally

Q17. Find the slope of a line which passes

through (4, 2) and (7, 6).

ml js•k dh <ky Kkr dhft, tks fcanq  (4] 2) vkSj
(7] 6) ls xqtjrh gS\

(a) 4/3 (b) 3/4

(c) 3/2 (d) 2/3

Q18. Find the intercepts made by the line

3x+4y–12=0 on the coordinate axis.

funsZ'kkad v{k ij js[kk 3x + 4y – 12 = 0 }kjk cuk,
x, var % [kaMksa dks [kkstsaA

(a) 2&3 (b) 3&4

(c) 4&3 (d) None of these

Q19. Find the length of the intercepts made by

the line 12x –9y–108=0 between the

coordinate axis.

funsZ'kkad v{k ds chp 12x – 9y – 108 = 0 js[kk }kjk
cuk, x, var% [kaMksa dh yackbZ Kkr dhft,A

(a) 9 unit (b) 12 unit

(c) 15 unit (d) 18 unit

Q20. Find the equation of a line whose slope is

5 and y intercept is 12.

ml js•k dk lehdj.k Kkr dhft, ftldk <yku 5 gS
vkSj y vojks/u 12 gSA

(a) y–5x–12=0 (b) y+5x+12=0

(c) 5x–y–12=0 (d) 3x+y–15=0

Q21. Find the equation of a line whose slope is

-1/3 and y intercept is 5.

ml js[kk dk lehdj.k Kkr dhft, ftldk <yku –1/

3 gSA vkSj y izfrPNsn 5 gSA

(a) 3x+y–15=0 (b) x+3y–15=0

(c) 3x+y–15=0 (d) 3x+y–15=0

Q22. Find the equation of a line whose slope is

-3 and it passes through point (2,–5).

,d js[kk dk lehdj.k Kkr dhft, ftldk <yku –3
gS vkSj ;g fcanq (2, – 5) ls gkdj xqtjrh gSA

(a) 3x+y–1=0 (b) x+3y–1=0

(c) 3x+y+1=0 (d) x+3y+1=0

Q23. Find the equation of a line whose slope is

2/3 and it passes through point (–3,5).

ml js[kk dk lehdj.k Kkr dhft, ftldk <yku 2/

3 gS vkSj ;g fcanq (–3, 5) ls xqtjrh gSA

(a) 2x–3y = –21 (b) 2x–3y = 21

(c) 3x–2y=21 (d) 2x+3y=21

Q24. Find the equation of a line whose slope is

5 and it passes through point (2,7).

ml js[kk dkj lehdj.k Kkr dhft, ftldk <yku 5 gS
vkSj ;g fcanq (2, 7) ls xqtjrh gSA

(a) 5x–y = 3 (b) 5x–3y = 7

(c) x–5y=3 (d) 5x–y= –3

Q25. Find the equation of a line passing through

points (-1,5) and (2,7)

fcanqvksa (–1, 5) vkSj (2, 7) ls xqtjus okyh js[kk dk
lehdj.k Kkr dhft,A

(a) 2x–3y–17=0 (b) 2x+3y–17=0

(c) 2x+3y+17=0 (d) 2x–3y+17=0

Q26. Find the equation of a line passing through

points (2,3) and (3,7)

fcanqvksa (2, 3) vkSj (3, 7) ls xqtjus okyh js[kk dk
lehdj.k Kkr dhft,A

(a) y–4x+5=0 (b) y+4x+5=0

(c) 2x+3y+17=0 (d) 2x–3y+17=0
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Q27. Find the equation of a line passing through
points (2,3) and mid- point of the line
whose ending points are (4,9) & (6,5).

fcanq (2] 3) vkSj ml js[kk ds eè;&fcanq ls xqtjus okyh
js[kk dk lehdj.k Kkr dhft, ftlds vafre fcanq (4]
9) vkSj (6] 5) gSA
(a) 3y+4x=1 (b) 4x–3y= –1
(c) 3x+4y=1 (d) 3x–4y=1

Q28. Find the equation of a line whose x and y
intercepts are 5 & 4

ml js[kk dk lehdj.k Kkr dhft, ftlds x  vkSj y
var% [kaM 5 vkSj 4 gSaA
(a) 4x+5y–20=0 (b) 5x+4y–20=0
(c) 4x–5y–20=0 (d) 4x+5y+20=0

Q29. Two graphs of the equations 3x + y – 5 = 0
and 2x – y – 5 = 0 intersect at the point
P(a, b). What is the value of (3a + b)?

lehdj.k 3x + y – 5 = 0 rFkk 2x – y – 5 = 0 ds
vkjs[k ,d fcanq P(a, b) ij ,d&nwljs dks dkVrs gSaA
(3a + b) dk eku D;k gSa\

SSC CGL Tier-II , 11 September 2019

 (a) 4 (b) – 4
 (c) 3 (d) 5

Q30. The graphs of the equations x – 7y = – 42
intersects the y-axis at P(a, b) and the
graph of the 6x + y – 15 = 0 intersects the
x-axis at Q(g, d). What is the value of a + b
+ g + d?

lehdj.k x – 7y = – 42  ds vkys• y&v{k dks P(a,

b) ij dkVrs gSa vkSj 6x + y – 15 = 0 dk vkys•
x&v{k dks Q(g, d) ij çfrPNsn djrk gSA a + b + g

+ d dk eku D;k gS\
SSC CGL Tier-II , 11 September 2019

 (a) 8.5 (b) 6
 (c) 4.5 (d) 5

Q31. The point of intersection of the graphs of
the equation 3x–5y = 19 and 3y – 7x + 1 =
0 is P(a, b). What is the value of (3a – b)?

lehdj.k  3x–5y = 19 rFkk 3y – 7x + 1 = 0 ds
vkjs[kksa dk izfrPNsn fcanq P(a, b) gSA (3a – b) dk eku
D;k gS\

SSC CGL Tier-II , 12 September 2019

 (a) – 2 (b) – 1
 (c) 1 (d) 0

Q32. The graphs of the equations 2x + 3y = 11
and x – 2y + 12 = 0 intersects at P(x

1
, y

1
)

and the graph of the equation x – 2y + 12
= 0 intersects the x-axis at Q(x

2
, y

2
).  What

is the value of (x
1
 – x

2 
+ y

1
 + y

2
)?

lehdj.kksa 2x + 3y = 11 rFkk x – 2y + 12 = 0 ds
vkjs[k ,d&nwljsa dks P(x

1
, y

1
) ij dkVrs gSa rFkk lehdj.k

x – 2y + 12 = 0 dk vkjs[k x-v{k dks Q(x
2
, y

2
) ij

dkVrk gSA (x
1
 – x

2 
+ y

1
 + y

2
) dk eku D;k gS\

SSC CGL Tier-II , 12 September 2019

 (a) 13 (b) – 11

 (c) 15 (d) – 9

Q33. The graph of the equation 5x +2y – 1 = 0
and 4y – 3x + 5 = 0 intersect at the point
P(a, b). What is the value of (3a + b)?

lehdj.k 5x +2y – 1 = 0 vkSj 4y – 3x + 5 = 0 ds
vkjs[k ,d&nwljs dks fcanq P(a, b) ij dkVrs gSaA (3a +

b) dk eku D;k gksxk\

SSC CGL Tier-II , 13 September 2019

 (a) 4 (b) 6

 (c) – 4 (d) None of these

Q34. The graph of the equation 3x – 20y –2 = 0
and 11x – 5y + 61 = 0 intersect at P(a, b).
What is the value of (a2 + b2 – ab)(a2 – b2 +
ab)?

3x – 20y –2 = 0 rFkk 11x – 5y + 61 = 0 lehdj.kksa
ds vkjs[k P(a, b) ij ,d nwljs dks izfrPNsn djrs gSaA
(a2 + b2 – ab)(a2 – b2 + ab) dk eku D;k gSa\

SSC CGL 2019 Tier-II , 15 November 2020

 (a) 37/35 (b) 31/41

 (c) 5/7 (d) 41/31

Q35. The graph of the linear equation 3x – 2y =

8 and 4x + 3y = 5 intersect at (a, b). What

is the value of (2a – b)?

jSf[kd lehdj.k 3x – 2y = 8 rFkk 4x + 3y = 5 dk
vkjs[k fcanq (a, b) ij izfrPNsn djrk gSA (2a – b) dk
eku D;k gS\

SSC CGL 2019 Tier-II , 16 November 2020

 (a) 4 (b) 6

 (c) 3 (d) 5

Q36. The graph of the linear equation 4x – 2y =

10 and 4x + ky = 2 intersect at point (a,

4). The value of k is equal to :

jSf[kd lehdj.k 4x – 2y = 10 vkSj 4x + ky = 2 ds
vkjs[k ,d fcanq (a, 4) ij ,d&nwljs dks dkVrs gSa k dk
eku Kkr djsaA

SSC CGL 2019 Tier-II , 18 November 2020

 (a) 3 (b) – 3

 (c) – 4 (d) 4

Q37. Find the acute angle between the lines

y=2x+5 and y+3x+2=0

js[kkvksa ds chp U;wu dks.k Kkr dhft,  y=2x+5 rFkk
y+3x+2=0

 (a) 30° (b) 45°

 (c) 60° (d) 75°
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Q38. If the lines 2y+4x+5=0 and y=2+ax are

parallel, then find the value of a.

;fn js[kk,¡ 2y+4x+5=0 rFkk y=2+ax  lekukarj gSa]
rks a dk eku Kkr dhft,A

 (a) 2 (b) –2

 (c) –4 (d) 4

Q39. If the lines y=4x+5 and y=(a+1)x –10 are

perpendicular, then find the value of a.

;fn js[kk,¡ y=4x+5 rFkk y=(a+1)x –10  yacor gSa]
rks a dk eku Kkr dhft,A

 (a) –1/4 (b) –5/4

 (c) 1/4 (d) 5/4

Q40. If the lines 2x+(a+1)y+5=0 and 5x+(3a–1)y–

12=0 are parallel, then find the value of a.

;fn js[kk,¡ 2x+(a+1)y+5=0 rFkk 5x+(3a–1)y–

12=0 lekukarj gSa\ rks a dk eku Kkr dhft,A

 (a) 2 (b) 7

 (c) –6 (d) 4

Q41. If the lines (4+a)x + 3y-(a+5)=0 and 5x+(7–

2a)y–(3a+5)=0 are perpendicular, then find

the value of a.

;fn js[kk,¡ (4+a)x + 3y-(a+5)=0 rFkk 5x+(7–2a)y–

(3a+5)=0 yacor gS] rks a dk eku Kkr dhft,A

 (a) 21 (b) 24

 (c) 33 (d) 41

Q42. Find the distance of point (–5, 8) from line

3x + 4y – 12 = 0.

js[kk 3x + 4y – 12 = 0 dh fcanq (–5, 8) ls nwjh Kkr
dhft,A

 (a) 1 (b) 2

 (c) 3 (d) 4

Q43. Find the perpendicular distance of point

(2, 3) from line 3x + 4y + 7 = 0.

js[kk 3x + 4y + 7 = 0 ls fcanq (2, 3) dh yacor nwjh
Kkr dhft,A

 (a) 3 (b) 2

 (c) 5 (d) 4

Q44. Find the perpendicular distance of line 3x

+ 4y + 7 = 0 from origin.

ewy fcanq ls js[kk 3x + 4y + 7 = 0 dh yacor nwjh Kkr
dhft,A

 (a) 3/5 (b) 2/5

 (c) 7/5 (d) 7/4

Q45. Find the distance between 2 parallel lines
:5x – 12y – 2 = 0 & 5x – 12y + 3 = 0.

nks lekUrj js[kkvksa 5x – 12y – 2 = 0 & 5x – 12y

+ 3 = 0 ds chp dh nwjh Kkr dhft,A
 (a) 3/5 (b) 2/13

 (c) 5/13 (d) 12/13

Q46. Find the distance between 2 parallel lines
:3x + 4y + 8 = 0 & 3x +4y –2 = 0.

nks lekUrj js[kkvksa 3x + 4y + 8 = 0 & 3x +4y –2

= 0 ds chp dh nwjh Kkr dhft,A
 (a) 2 (b) 4

 (c) 5 (d) 1

Q47. If three vertices of a triangle are (4,0), (0,

0) and (–3, 4), the triangle is

;fn f=kHkqt ds rhu 'kh"kZ (4, 0), (0, 0) vkSj (–3, 4)

gSa] rks f=kHkqt gSA
 (a) Acute-angled  (b) Right angled

 (c) Obtuse angled  (d) None of these

Q48. If three vertices of a triangle are (6,7),(1,2)

and (5,8), the triangle is

;fn f=kHkqt ds rhu 'kh"kZ (6, 7), (1, 2) vkSj (–5, 8)

gSa] rks f=kHkqt gS
 (a) Acute-angled  (b) Right angled

 (c) Obtuse angled  (d) None of these

Q49. If three vertices of a triangle are (–2,6),

(2,1)and(10,1), the triangle is

;fn f=kHkqt ds rhu 'kh"kZ (–2, 6), (2, 1) vkSj (10, 1)

gSa] rks f=kHkqt gS
 (a) Acute-angled  (b) Right angled

 (c) Obtuse angled  (d) None of these

Q50. If three vertices of a triangle are (4,3),

(12,3) and (8,6), the triangle is

;fn f=kHkqt ds rhu 'kh"kZ (4, 3), (12, 3) vkSj (8, 6)

gSa] rks f=kHkqt gSA
 (a) Scalene  (b) Isosceles

 (c) Equilateral  (d) None of these

Q51. Find the area of a triangle whose vertices

are A (2, 4), B (0, 0) and C (–3, 6).

f=kHkqt dk {ks=kiQy Kkr dhft, ftlds 'kh"kZ gSa A (2,

4), B (0, 0) rFkk C (–3, 6).

 (a) 06 Sq. Units  (b) 12 Sq. Units

 (c) 18 Sq. Units  (d) 24 Sq. Units

Q52. Find the area of a triangle whose vertices

are A (4, 5), B (6, 1) and C (–3, 5).

f=kHkqt dk {ks=kiQy Kkr dhft, ftlds 'kh"kZ gSa A (4,

5), B (6, 1) rFkk C (–3, 5).

 (a) 06 Sq. Units  (b) 12 Sq. Units

 (c) 16 Sq. Units  (d) 14 Sq. Units
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Q53. Find the area of triangle bounded by x-

axis, y-axis and 3x+4y–12 = 0

x- v{k] y- v{k vkSj js[kk 3x + 4y – 12 = 0 ls cus
f=kHkqt dk {ks=kiQy Kkr dhft,A

 (a) 06 Sq. Units  (b) 12 Sq. Units

 (c) 16 Sq. Units  (d) 14 Sq. Units

Q54. What is the area (in square units) of the

triangular region enclosed by the graphs

of the equation x + y = 3, 2x + 5y = 12 and

the x-axis?

lehdj.k x + y = 3, 2x + 5y = 12 ds vkjs[kksa rFkk
x- v{k ds }kjk ?kjs x, f=kHkqtkdkj {ks=k dk {ks=kiQy
(oxZ bdkbZ esa) D;k gksxk\

SSC CGL Tier-II, 13 September 2019

 (a) 02 Sq. Units (b) 03 Sq. Units

 (c) 04 Sq. Units (d) 06 Sq. Units

Q55. The area in (sq. units) of the triangle

formed by the graphs of 8x + 3y = 24, 2x +

8 = y and the x-axis is ?

8x + 3y = 24, 2x + 8 = y vkSj x-v{k ds vkjs[k
}kjk fufeZr f=kHkqt dk {ks=kiQy (oxZ bdkbZ;ksa esa) gS%

SSC CGL 2019 Tier-II, 15 November 2020

 (a) 28 Sq. Units  (b) 14 Sq. Units

 (c) 15 Sq. Units  (d) 24 Sq. Units

Q56. Find the value of a for which the points

:(1, 2), (3, 4) and (5 , – a) are collinear.

a dk og eku Kkr dhft, ftlds fy, vad (1, 2),

(3, 4) 1 vkSj (5 , – a)  lajs[k gSaA

 (a) – 6 (b) – 4

 (c) – 1 (d) – 2

Q57. Find the value of k for which the points :

(k, 2-2k), (-k+1, 2k) and (-4 -k , 6-2k)

are collinear.

k dk og eku Kkr dhft, ftlds fy, vad (k, 2-

2k), (-k+1, 2k) vkSj (-4 -k , 6-2k)  lajs[k gSaA

 (a) – 6 (b) – 4

 (c) – 1 (d) N.O.T

Q58. Find the co-ordinate of the centroid of a

triangle,whose vertices are (2,–2), (6,–3)

and (4,2)

,d f=kHkqt ds dsUnzd ds funsZ'kkad Kkr dhft, ftlds
'kh"kZ (2,–2), (6,–3) vkSj (4, 2) gSaA

 (a) (4,–7) (b) (0,7)

 (c) (4,–1) (d) (0,–1)

Q59.  Find the co-ordinate of the centroid of a

triangle,whose vertices are (4,20), (8,–3)

and (3,–2)

,d f=kHkqt ds dsUnzd ds funZs'kkad Kkr dhft,] ftlds
'kh"kZ (4, 20), (8,–3) vkSj (3,–2) gSaA

 (a) (4,–7) (b) (0,7)

 (c) (4,–1) (d) (5,5)

Q60. Find the incentre of a triangle ABC whose

vertices are A(0,0),B(5,0) and C(0,12).

,d f=kHkqt ABC dk var% dsUnz Kkr dhft, ftlds
'kh"kZ  A(0,0), B (5,0) vkSj C(0,12) agSaA

 (a) (2,–2) (b) (3,–2)

 (c) (3,2) (d) (2,2)

Q61. The co-ordinates of the vertices of a right-

triangle are P(3,4), Q(7,4) and R (3,8), right-

angle being at P. The co-ordinate of the

ortho centre of triangle PQR.

,d ledks.k f=kHkqt ds 'kh"kkZsa ds funsZ'kkad P(3,4),

Q(7,4) vkSj R (3,8) gSa] ledks.k P ij gSA f=kHkqt
PQR ds yEcdsUnz ds funsZ'kkad gSaA

 (a) (7,4) (b) (3,8)

 (c) (5,6) (d) (3,4)

Q62. Find the ortho-centre of an equilateral

PQR, whose vertices are P(2,–3),Q(0,–3) and

R(4,9).

,d leckgq PQR dk yEc dsUnz Kkr dhft,] ftlds
'kh"kZ P(2,–3), Q(0,–3) vkSj R(4,9) gSaA

 (a) (2,1) (b) (3,–2)

 (c) (3,2) (d) (1,2)

Q63. The co-ordinates of the vertices of a right-

triangle are P(3,4), Q(7,4) and R (3,8), right-

angle being at P. The co-ordinate of the

circum centre of triangle PQR.

,d ledks.k f=kHkqt ds 'kh"kZsaa ds funsZ'kkad P(3,4),

Q(7,4) vkSj R (3,8) gSa] ledks.k P ij gSA f=kHkqt
PQR ds ifjdsUnz dk funsZ'kkad gSaA

 (a) (7,4) (b) (3,8)

 (c) (5,6) (d) (3,4)

Q64. Find the area of a quadrilateral whose

vertices are A(2,9) , B(2,1), C(6,4) and D(4,9).

,d prqHkqZt dk {ks=kiQy Kkr dhft, ftlds 'kh"kZ A(2,

9) , B(2, 1), C(6, 4) vkSj D(4, 9) gSaA

 (a) 42 Sq. Units  (b) 14 Sq. Units

 (c) 15 Sq. Units  (d) 21 Sq. Units
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Q65. Find the reflection of point A(5,4) on x-
axis.

fcanq A(5, 4) dk x- v{k ij izfr cEc Kkr dhft,A

 (a) (5,4) (b) (5,–4)

 (c) (4,5) (d) (–4,5)

Q66. Find the reflection of point A(5,4) on y-
axis.

fcanq A(5, 4) dk y- v{k ij izfr oEc Kkr dhft,A

 (a) (5,4) (b) (5,–4)

 (c) (–5,4) (d) (–4,5)

Q67. What is the reflection of the point (5, –3)
in the line Y = 3?

js[kk Y = 3 esa facanq (5, – 3) dk izfrfcEc D;k gSa\

SSC CGL 2019 Tier-II, 18November 2020

(a) (5, – 6) (b) (– 5, 3)

(c) (5, 9) (d) (5, 3)

Q68. The equation of circle with centre (1, 2)
and radius 4 cm is :

dsUnz (1] 2) vkSj f=kT;k 4 lseh okys òÙk dk lehdj.k gSa%

SSC CHSL 17/03/2020 (Afternoon)

(a) x2 + y2 + 2x – 4y = 16

(b) x2 + y2 – 2x + 4y = 16

(c) x2 + y2 + 2x – 4y = 11

(d) x2 + y2 – 2x – 4y = 11

Q69. Find the equation of circle whose centre
is (2,3) and radius is 5.

ml o`Ùk dk lehdj.k Kkr dhft, ftldk dsUnz (2]
3) gS vkSj f=kT;k 5 gSA

(a) x2 + y2 – 4x – 6y = 12

(b) x2 + y2 – 2x + 4y = 16

(c) x2 + y2 + 4x – 6y = 12

(d) x2 + y2 – 2x + 4y = 11

Q70. If x2+y2+6x+8y+11=0 is the equation of a
circle, find its centre and radius.

;fn x2+y2+6x+8y+11=0 ,d o`Ùk dk lehdj.k gS]
rks mldk dsaUnz vkSj f=kT;k Kkr dhft,A

(a) (–3, – 4), 14 (b) (– 5, 3),8

(c) (5, 9),7 (d) (5, 3),9
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Answer Key

1.(c) 2.(a) 3.(d) 4.(d) 5.(c) 6.(b) 7.(a) 8.(b) 9.(b) 10.(b)

11.(d) 12.(b) 13.(d) 14.(a) 15.(c) 16.(c) 17.(a) 18.(c) 19.(c) 20.(a)

21.(b) 22.(a) 23.(a) 24.(a) 25.(d) 26.(a) 27.(b) 28.(a) 29.(d) 30.(a)

31.(b) 32.(c) 33.(d) 34.(b) 35.(d) 36.(c) 37.(b) 38.(b) 39.(b) 40.(b)

41.(d) 42.(a) 43.(c) 44.(c) 45.(c) 46.(a) 47.(c) 48.(b) 49.(c) 50.(b)

51.(b) 52.(d) 53.(a) 54.(b) 55.(a) 56.(a) 57.(d) 58.(c) 59.(d) 60.(d)

61.(d) 62.(a) 63.(c) 64.(d) 65.(b) 66.(c) 67.(c) 68.(d) 69.(a) 70.(a)
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